
RECALL

Match the equivalent fractions to their percentages

If 35% of cats like to chase mice, how many don’t?

If 27.25% of cats like to drink cream, how many don’t?

Explain why





LEARNING HABITS?



GUIDED PRACTICE 

1) How many circles 
should Sofia paint 
yellow?

2) How many circles 
should Sofia paint 
blue? 

How many ways can you show the answer?



INTELLIGENT PRACTICE

10% of 3,000 = 

10% of 1,500 = 

10% of 500 = 

To find ___% 
divide by ___.

25% of 3,000 = 

25% of 1,500 = 

25% of 500 = 

To find ___% 
divide by ___.

50% of 3,000 = 

50% of 1,500 = 

50% of 500 = 

To find ___% 
divide by ___.

1% of 3,000 = 1% of 500 =  

1% of 1,500 = To find ___% divide by ___.



INTELLIGENT PRACTICE ANSWERS

10% of 3,000 = 300

10% of 1,500 = 150

10% of 500 = 50

To find 10% divide by 
10.

25% of 3,000 = 750

25% of 1,500 = 375

25% of 500 = 125

To find 25% divide by 
4.

50% of 3,000 = 1500

50% of 1,500 = 750

50% of 500 = 250

To find 50% divide by 
2.

1% of 3,000 = 30

1% of 1,500 = 15

1% of 500 = 5

To find 1% divide by 100.



1) Match each bar model to the statement it represents.

DIVE DEEPER 1

2) Use bar models to help you complete the calculations

50% of 624 = 25% of 624 = 



1) Match each bar model to the statement it represents.

DIVE DEEPER 1 ANSWERS

2) Use bar models to help you complete the calculations

50% of 624 = 312 25% of 624 = 156



DIVE DEEPER 2

3) Draw bar models to help you complete the following calculations.

a) 50% of 3,420 = 

b) 25% of 3,420 = 

c) 10% of 3,420 = 

4) Emma bought 2kg of fruit. 
25% of the weight was pineapple. 
10% of the weight was bananas. 
The rest was apples.

How many more grams of apples than bananas did Emma buy?

5) Workers in a toy factory aim to pack 2,560 boxes each day.
At 10:00 am they have completed 25% of their target.
a) How many boxes have they packed?
By midday they have packed 50% of their target.
At 2:00 pm they have packed another 10% of their target.
b) How many more boxes do they need to pack to meet the daily target?



DIVE DEEPER 2 ANSWERS

3) Draw bar models to help you complete the following calculations.

a) 50% of 3,420 = 1710

b) 25% of 3,420 = 855

c) 10% of 3,420 = 342

4) Emma bought 2kg of fruit. 
25% of the weight was pineapple. 
10% of the weight was bananas. 
The rest was apples.
How many more grams of apples than bananas did Emma buy? The apples weigh 
1100g more than the bananas

5) Workers in a toy factory aim to pack 2,560 boxes each day.
At 10:00 am they have completed 25% of their target.
a) How many boxes have they packed? 640 boxes
By midday they have packed 50% of their target.
At 2:00 pm they have packed another 10% of their target.
b) How many more boxes do they need to pack to meet the daily target? 1024 
boxes



DIVE DEEPER 3

Follow the steps to find a way through the maze.



SELF-ASSESSMENT

• Some will even be able to create their 
own rules to help them to work out how 
to find 1% of any number

• Some will be able to explain why finding 
10%, 25%, 50% works

• Most will be able to draw a bar model to 
show the problem

• All will understand that a percentage is 
out of 100


